Fitting instruction Crash-Pads Yamaha FJR 1300 06 2> Part.no.: 550Y111

Important: If you are not a trained motorcycle mechanic stop now. Ask a local motorcycle shop to
do the work for you.

Please take extra care!
You have to mount the crash-pads one side after the other! Do not loose more then one engine

mounting bolt at the same time!
The cowling remains unmodified!

Fitting of the right side:

M6x16
tightening torque:
10Nm / 7.4lbf ft
bush L=30mm M10x1,25x60
bush tightening torque: 35Nm / 25.8Ibf ft
L=8mm

frontside engine to frame
mounting point

= ' : — _}

M12x1,25x65
tightening torque: 55Nm / 40.5Ibf ft

|

[
Ol |
L
adapter plate
marked "Y111R"
Fitting of the left side:
bush L=30mm M6x16
tightening torque:
M10x1,25x65 bush 10Nm / 7.41bf ft
i i : L=8
tightening torque: 35Nm / 25.8Ibf ft mm frontside engine to frame

[ mounting point

E_" ' TH =

M12x1,25x75
tightening torque: 55Nm / 40.5Ibf ft

— |

S

adapter plate
marked "Y111L"

LSL-Motorradtechnik GmbH ¢ D-47809 Krefeld

www.lIsl.eu driving direction "touch
direction down" area

Stand: 25.05.2007




	Model

